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Instructions

1. All questions are compulsory.

2. Figuresto the right indicate full marks.

3. Make suitable assumptions wherever necessary.
4. Start new question on new page.

Q.1 Do asDirected.

A).Multiple choice type questions. (05)
. X*+2x+5
Llim———r=
x-0 X +3x+1
a5 c)3
b) 0 d)-1

2. The derivative of any constant number is___.

a) constant number c0
b) 1 d) Not defined
3. The Revenue function R is equals to
a) Xp c) xp°
b) X d) P
p X
dy .
4.1f y =uvthen —isequd to
dx
dv  du dv du
au—-v— ) uU—+v—
dx  dx dx  dx
b) uﬂ+v% d) u%+vﬂ
dx  dx dx dx

5. Let Pistheprincipal , Risrate of interest and N is number of years, then simpleinterest is,

RN RN
a) Al+— ) PL+-—
) All+255) ) PL+250)

PRN d) PRN
100 100

B). Definethefollowing. (05)
1. Annuity
2. Definite integral
3. Profit function
4. Unitary Elastic Demand
5. Continuity
C).Direct questions. (05)
1. Give the equation of tangent to agiven curve y = f (X).
2. f(X)=x>-8x*+1,find f (D).

2x_
3 limo_ 1
x—0 X

b) A+
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b
4. Eval uatej f(x)dx.

5. Evaluate iIog(2 + 3X).
dx

Q.2 Answer thefollowing questions.

JFJ_

A).
1. Find Iim

x—0

2. Provethat f (O) = 3for the function f(x) = 2x*+3x+5.
B)-1. Find the tangent line and normal line of 6x* + 3xy + 2y? +17y— 6= 0at (-1, 0).

2. Evaluate Y for XX
dx
Q.3 Answer thefollowing questions.
A).
1. Eva uatej xe*dx .
2. If demand function of monopolistis p = 20— X and its average cost is Rs 5. Find maximum

Profit.
B).1. Find Compound interest on Rs. 25000 at 5% per annum at the end of 2 year.

2Find [ (VX + =) dx

Jx
Q.4 Attempt any two questions. (Each of 7.5 mark)
1 Evauatethe j X dx by partid fractions.
(x=D(x-2)(x-3)
2

2 If thedemandis p=13.5— % , find the demand for maximum revenue and aso find price
when the revenue is maximum.

3 Evaluate%forx a(+sinq),y=a(l-cosq).

4 Find maximum and minimum values of y = X° + 6x2 —15x + 7.

(04)
(03)

(04)

(04)
(03)
(04)
(04)

(04)

(15
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